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PART - 11: SCHOLASTIC APTITUDE TEST
(For Student of Class VIII)
Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Ruead the following instroction carefully before you open

the Question Booklet

L Answers are to be given on the same OMR Answer
Sheet provided for Part-1.

2 There are % questions in this test booklet.  All are
compulsory.

3. The Question Numbers 91 - 110 belong to
Mathematics, 111 - 145 pertain to Science and
146 - 180 are on Social Science subjects.

4. Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Donot mark " or % in the OMR sheet.

5. Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending oo much time on any one question.

6. If you donot know the answer o any question, do not
waste time on it and pass on to the next one. I ime
permiss, you can come back to the questions, which vou
have left in the first mstance and attempt them.

7. Rough work can be done anywhere in the Question
Booklet but not in the OMR sheet/ loose paper.

8 Eachcorect arswer will beawarded one mark

9. PMease return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retiain the
Question Booklet

10. Quote your seven digit Roll Number without fail for
any future cormespondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.,
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MATHEMATICS/ senflgid

(20+7)+12=20+(7+12). This satisfies
which of the below mentioned property ?

(1} Closure property
(2) Commutative property

(3)  Associative property

(4) Additive identity

Find the value of :

[( =60+ 3) +10] x [(45+3)=2]

(1 ~-156
(2) -25
(3) 120
4 -130

The base of the parallelogramis four times
the height and its arca is 256 cm? then, its
height is :
(1) 4cm
(2) 6cm
(3) Bem

4) 16 cm

91. (20+7)+12=20+(7+12) eranug &

922,

93.

sam_aihmdt ahs vaneu Hepey
Qb 7

(1) Sl dery
(2) whlworpod ey
0 Csiiyl Ly
(4) &mLL& s

S| Enans :

[~ 60+ 3% 10] x [(45+3) ~ 2]

(1) ~156
@ -2
(3) 120
@ -130

om Beommargflen siylussnnag
Sip@ Lwisess Gura 4 LLBIG
WHPID SHET uroy 256 Qe b aafld,
BiFE0T BLITLD

(1) 4Qsd
2) 6 GlelB
@ sQsd
(4) 16 Qw8
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94.

95.

96.

97.

(2x+3y—dz) + (6x-10y + 14z2)—
{15x + 8y =72)=?

(1) —Tx+y+3:
Q) 7x+y-17:
(3) —7x~-15y+17:

(4) —7x+15y+17:

If (304 x)* = 50625 then, the value of v is

(1} 16
2) 4

(3 =15
4 =3

The value of (15x 16 %17 |s ;

(1, o
@ 1
(3) 15
4) 17

The unit plage value of the number
102 4+ 10% 4907 s

1 o
@2 1
(3) 2
(4) 3

95.
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(Zx 43y -4z)+ (6x-10y +14dz) -
(15x 4+ By -72)=?

(1) -7x+y+3z
2} Tx+y-17z
0O -n-15y+17:

(4) —7x+15y+17%

(30 + x)* = 50625 ralco, x -6t WL :
1y fa
(2) 4

@ -5

gy -3

(15%16x17)" ¢ w@uLy :

(1 o
d

@ 15
@) 17

10224108 4 101 grénp Canrenaulen
geénmmb @e&sib :
M o

(2) 1
(3 2
(4) 3
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dri—Syy+ 28 +Bxy—y by is a:
(1)  Monomial

(2)
(3)
(4)

B! . !
Trinomial
Polynomdal

The number of zeros in 1007 s

(1 2
2 3
(3 10
(4) 20

If 5m+15 < 20 then, the value of ‘'m’ js:
()
(2)
(3)
(4)

=0

m=1

m=1

If Babu repaid T 10,824 as total amount for
a loan of T 8,200 at the rate of 8% p.a., how
many years he had taken to repay the
amount 7

(1 1
(2)
(3)
4

wm o W

98.

99,

100.

101.
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42 = Say + 27+ By — P +ay STRILE B0 ¢
(1)
(2)
®
O

ooy Garena
FEmlys Carena
paypuys Garenas
ugmouys Canea

1001 -@dé edren gefludsafien
sTanatl&ens -

My 2

2 3

(3) 10
20

Sm+ 15 < 20 - @ fiey
(1
(2)
3)

@ m=1

me={)

mz1

ury eanuel 8% saflauc g Sasde
T 8200 -g saLenrss Quhm T 10824
fmeous Qegigflant aalld e

eREnsQaranL suEmad aeuaTa) 7

(1 1

@ 3

Q
5

(4)
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102. Find the value of ‘m’ in the figure.

103,
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102. L gBauerer ‘m' -an wHOL srans.

(1

(2)

(3

(4)

29°

a2"

If two plane figures are congruent then, they
are said to be :

(h

(2

I in size

same in shape

same in angle

saine in both size and shape

103.

(1)

122°

29"

3l

@m g e meukisdr sieuswh sraflés,
SHehau |

(1

2)

(3)

&0 HETa) 2 enL weney

S0 GG EULD D N uiEal

s Canam emey e.enLuiee

s Adalh s akgakd
el wanal
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104. Pick cut the correct statement(s) from the

105.

106.

following,

(1)  In a triangle, there will be more than
one right angle.

(i) In a triangle, there will be onlv one

In a triangle, all the angles can be

acute.

(iii)

(iv) Ina triangie, all the angles are obtuse.

(1) (i) (1) and (i) only
(2) () only

(3) (i) and (iii) only

(4) Al of the above

The median of 18, -4, 0, -3, -8, =13, 1,
7.8,9.13,

(1 =13
() 18
3 1

) 0

The centroid of a triangle divides each
median in the ratio

(1) ¥:2
@y 2:3
@ 1:3
4) 3:1

104.

106.
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(i)

(i)

M om opiSstersdd o
Canamris @b eAfiGarard gysb

(N (0 ()P (i) oG

(2) i) LD

O Givabpo i) ol Gib

) _OEpemdlu Senangyib

18, -4,0, -3, -8 -13,1,7,8,9,3 = 8wy
srasafla G glea

(1 -13

2) 18
(o 2

(4 0O

om ECGsranjda pHaCGsnl(
@uuwTag gdllans pHECamC -
uyth eldfizssd GNsdps.

m 1:2
3] 1:3
(4) 3F:1

L]
—

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

|CODE [V | 11 | 23|

107. If a class size is 10 and range is 80, then the
number of classes are :

(1) 80
(2) 10
@ 7

1 (3 5).(1.3)\ 3
108. - [‘ ﬁ):[ illustrates that the

subtraction does not satisfy the
property for rational number,

(1) Commutative
(2) Closure

(3) Distributive
(4) Associative

109. ldentify which among the following is a
linear equation.

(1 7K-16=0
(2) m-16=0
(3) 4pi=12
(4) 6x'=18

110. The graphical representation of ungrouped
data is :

(1) Histogram

(2)  Frequency polygon
(3) Pie chart

(4)  All of the above

www.Trb Tnpsc.Com

107. Gfley weray 10 P SFs 80 aafld
Gftaisaliin cranafisans -

(1) 80
2) 10
@3 7

} (3 5 1, 31 5 .
108, 3 (is ) 2 g s
efflsnpmy eranmaticn L Slenen

fepa| Galwung aduas Harky-
Amng.

(1) ufwrh

2) Seoay

@) und’ @

@ Gamiiy

109. @ramausauphée oz GCplud
swarun(® ?

(1) 76-16=0
® m-1=0
(3) 4p*=12
(4) Axt=1R

110, Qgr@asuurng elauruaaiian auenguL
dlavés qpenm
(1) Pspey Qedusd
(2) flspey voGaresrd
0 el deadsiub
4) Geoa s@abisb
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SCIENCE/ gleflwev
111. Match the following, 111, QurEHss
(a) Astronomical (i) 94607 x 10'? km (a) eunaflue (1) 9.4607x 1012
unit S 4.8

(b) Light Year (i) 16 km

(c) Parsec (i) 3.09x10" km

(d) Mile (iv) 1.496x10* km
(1) (a)liv), (D), (c)-(u), (d)-(id)
(2)  (a)-ii), (b)gav). (c)(H). (d)-(1)
(3)  (a)-{id), By), (c)-fiv), ()

(4)  (api), (b)-v), (c)-(i). (d)-{u)

112. The main effects of electricity -
(i) Heating offect
(@) Magnetic effect
(i) Chemical effect
(1) (i) and (i)
(2) (i) and (i)
(3) (i) and (i)

(4) Al of the above

() gofl @ (i) 16 BB

(c) eflamanfiued (i) 3.09x10" £.8
QYo

(d) =owa (v) 149 = 10% & &
@ @Hiv). b-6), (e)-G), (-
(2) As)ai), (b)-Giv), (c)-Gi). (d)-()
@) (@)-Gii), (0)-G), (©1-Gv), (d)-Gi)

(4)  (a)-(i), (b)-(iv), (c)-{1). (d)-fiii)

112, BaCam_Lsden wablu edlanereyser ©
() Ceulu sil@eray
(i) &nps Hemaray
(i) Geugl eblenaney
(1) (i) ohod (i)
(2) (i) wbgubd ()
(3) () wnpb (i)

@ Cuhsaflu seerggin

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

|CODE[VIII| 11 |13 l

113, PFick oul

114.

115.

the incorrect  statement

Primary coll

(N

2)

3)

(4)

The chemical reaction inside the
primary cell is irreversible.

It can be recharged.

It is used to operate toys and torch
light.

Diry cell is an example of primary cell.

The term “SCHOOL written in school buses

appears as " JOOHD2* in the mirror
because of

(1)  Real Image

(2)  Virtual Image

(3) Dispersion

(4} Lateral Inversion

The type of mirror iniwhich the reflecting
surface directs the(entire incident beam of
light to converganthe focal paint is called :

(1)
(2)
(3)
(%)

Parabolic Mirror
Convex Mirror
Conciave Mirnoy

Plane Mirror

www.Trb Tnpsc.Com
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114.

115,

(1)

&)

(3

(4)

Bamdla penGugd Cayfeliene-
wreng @i e sllener b,
Beasme San@ib faCapow
Qe Bugb.

Qumbenpssty, e (Wancilarsgsar
Cumn Sl sngemvsmer @uibs
vt G ldpen.

cwi Bl gpsdtan Se-
SRGIES TRSHEET LG,

SCHOOL' sren el Cumpa
APSULLLE gl " JOOHDR" erend
@sfleugen anyemo -

(1
(2)
(3)

0

G Sbuh
wrw Slbub
Gfidiper

B aiwonppib

aefCrrefiagd wrbuneg pady
dlopd gafisapep oaieopub
gelwliydrafile slimn Ly

0
@)
Gl
)

LTy =fHiq
@eaflwimg
Slwimg
EEST 4y
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116. Which one of the following instruments uses
the Laws of Reflection ?

(1)
(2
(3)
(4)

Camera
Torch Light
Periscope
Handy Lens

117. Find the equivalent value of 68°F in Celsius,

10°C
20°C
15°C
5°C

(1
(2)
(3)
(4)

118. During BigBang Explosion. the level of

temperature was :
n
(2)
(3)
(4)

1082 K
105 F
108 C

102K

119. The type of reflection formed when a beam
of light falls on the smooth surface

Total Internal reflection
Multiple reflection
Diffused reflection
Specular reflection

(1)
(2)
(3
4)

Kindly Send Me Your Key Answer to Our email id -
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116. eryfi@rreafiiny ffullany Geudu@b
smedl :
(1)
(2)
0 GufisGsnd
(4)

ERmLOIT

Lfté eneol_
anEwL_is Geocns

117. 8°F Canuflencss siowren Seddluey
i Qemars sawLiaub
(1) 10°C
© .20cC
(3)15%€
@) 25°C

118, Glugs Gang iy Flapss Gung e meunan

@ w2k
(2) 10°"F
@3 102°C
4 WwRK

119. augaiplurer urule gefissdras

amaundEn afQrrafily garenwu@en
Gy

(1) opupis edGgmediny
2) weénwas af@prafioy
(&)  efpeusunan erBQymaficiny
O sarerng afQpmafiiy
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120. The speed of sound in air at 273 K and
295 K respectively are

(1

(2)

(3)

(4)

121.

A% 10¥ ms—1, 33 ms—!
344 o', 360 ms !
33 ms~ !, Md ms |

3 ms L, A% 109 ms!

The pressure cooker handles are made up of

bakelite. The reason s :

(n
(2)
(3)

(4)

Conductor
Insulator
Decorator

Easy for handling

122. Which of the following i¥'wrongly paired ?

(1)
(2)
(3)

4)

Proton Gaoldstein
Electron - 1.J. Thomson
Neutron James Chadwick
Electron - Bohr

Cloud Model

Kindly Send Me Your Key Answer to Our email id -
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120, 273 K wppw 295 K Hélu Qaidu-
fleowsafia gallllar Caswn wpapGu -

M)
@)
0

)

310" ms~ !, 331 ms—!
344 ms— !, 360 ms !
WVl ms !, 344 ms !

1 ms !, 3108 ms !

121, Spsipenic @asflar aaQyadr sumfii-
ugie Cusssal. LLEEHELLGDAIEE
SNTEETD

(h
0
o)

(4)

&L dgub Qunmer
sLgpnu Gummen
Sirisryl Gummer

sQUWNES SewumEmd Gummer

122. gaupren @earmwud CarbbishHésanb.

(1)
(2)
(3)

o

yGomiLnér - Canat_euimen
sraslgran - Ggg Ggg. smbsen
Puyiomén - Gmibev smlela
s gmen - Gund
Sal L RIEsET

LA
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123, Choose the correct pairs.
Antiseptic - lodoform (i)
Antibiotic - Chlorophenicols (i)
Natural - Ethanol (i)
Antiseptic Briahamaine Oafiel
Analgesics - Aspirin| Qodu sefssou G | (iv)
& aflenL migmb
(i) and (ii) only Qunsssnppmanns | (1)
(ifi) and (iv) only | S@CusOCardaEdl | o)
ELLTY

(1), (if) and (iii) only | wesmasssssves |(3)
All of the above PECRmERRaBN |

124.

125.

(4)

Which type of fire extinguisher is used to
control the fire on butane and methane
gases ?

(1)
(2)
(3)
(4)

Water

Dry Powder
Foam

CcO.

Choose the incorrect statement.

(1)

2

(3)

(4)

Curdling of milk is an example for
irreversible change,

Churning of curd is also a physical
change.

Freezing of water is an example for
chemical change

Rusting of iron is an example for
chemical change.

W
@
(3)
0

(h

(2)

(©)

{#)

13
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123. sflwreat Pevamsmens GEHiEdsHasan.

Sy@ng QFiigs - CwnGmunmb
Byemg Liwmigd - Gemmomiafisnd
Elubhens ey slgs - adgpeamd

euell [Bleunpemfl - %@Iﬂiﬂﬁ
(i) wond (i) wi_Gn

(idi) whHmd (v) welbid

(i), (i) Lohmith, (i) WGk
Cupamilu siaargsin

124, Gy Gren Wonmid B5Csan eumydse
FLunferrd Sletan Seoarssl
W@ Suiener e |

tir

2l Siren
B
co,

125. gaupne ab@ns Coipbshssab.

ure gullgmee earug g Bearn
ehlenamwims b

sllamys SLgD U GO
Bup@ud wrpporEb.

B eapgd eanugy Caudlud
wrppsSoG 0 TOEyEsT
LN@LD.

Aovy souliyssa Ly
Caudlliua wrppstinsnan g s

SIM_LT@EiD,
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126. The elements which are synthesized

127.

125.

artificially in the laboratory out of 118 are :

(1 24
(2) 26
(3 18

@) 21

Liguid metal : Mercury : : Liquid non-metal =

(1) Bromine
(2) Chlorine
(3)  Sodium

(4) Antimeny

Hg**, Sn®* jons havie the following names
respectively,

(1)  Stannous.and Mercurous
(2)  Stannic and Mercuric
(3)  Mercurous and Stannic

(4)  Mercuric and Stannous

www.Trb Tnpsc.Com

126. @@euer s Hudiuc e 118 gaflon-

safle Huasdsdflod Grupamsuns
purfl&aiul L pafl o salas
sTam EamE

Q 2

@ 26

3 18

4 21

. St eCansd : urgrsd - @ Sra

SCATED :

(O uComben
@) @Gamfien
(3) Camguub

(4) gy w0

. Hg*t, Sn*" sweflsgmeas aphsd-

upn Guuiiss wpanGus -

(1) eCLenandy whmub Quof@ye
(2) ewGidralls whpd Guorsfis
(3) QuiEren wppb G el

@ OGuishs wpgb @GLdran
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130,

1.
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The element denoted in the diagram is :
(1) Ar
(2} Kr
(3) Ne
(4) Rn

In Haber process, acts as a

catalyst
(1) Ammoria
{(2)  Nitrogen

(M lron

(4) Hydrogen

The gases used to removegerms and bacteria
present in waler |

(1)  Chlorine andEizone

{2)  Hydrogen and Oxygen
(3)  Carbon and Oxygen

(4)  Chlortne and Flydrogon

129.

130,

131.
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b @iloEBmn Fefiotn:
(1) Ar
(2) Kr

mNc

(4) <«Bn

Caput damade deaysduns
CatsouHeaugy

(1) bCurailunr

(2) mpLTger
QO 8oy
(4) eogDLTge

gfld eder mlsdr wHpD Lrkef-
wrssaman fEs LD aumyEsdr

@ oCorfia whgd glsnen
GRDLTRE wHpD Saflpar
(3) anfuan wHb asflgen
) @Geamfles whHpD gD

2
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132, is used to neutralize the pain | 132, aguby s sé@n Cungy goudd eud
and irritation coused by ant bite. whHmib evflésd eamiaysanean
Garagn(® #MQelwsmbd.
(1) NaOH (1) NaOH
(2) KOH (2) KOH
(3) Ca(OH), Q) CaoH),
(4) NaCl (4) NaCl
133, Match the following. 133. Qurmizs.
(a) Storage oot (i) Pisum (0) o Gedldiy Gauft (1) wicmenfl
(b) Sucking ot (@) Colocasia by efiess Ganr () Ceoum
dpus
() Tendrils () Beet root () ubps sbE () Jiml
() Underground (iv) Cuscuta (d) senpdp san® (iv) seoglinm
slem
(1) (a)Guii). (B)-40), (e)-(1), (d)-(iv) (1) (a)-ii), (b)), ()i, (d)(iv)
(2)  (@)-(iid), (b)-tiv). (c)-{i), ()-() © (i), b)iv), (-0, (d)-i)
(3)  ta)iid), (b}-€iv). (e)=(ii), (A)-() (3)  (a)-(ii), B)-{iv), ()-{i), ()-6)
(4)  (a)-fiv), (b)), (h{Fih b)) (4)  (apliv). (b)-(iki), (e)-{id), (d)-()
134, Preumatophores dre seen in : 134, ol Gun.Cuniad srasmiuiieug :
(1)  Avicennia and Banyan ()  seufefur whpd seowab
(2)  Vanda and Cuscuta (2)  sunarLr whmb s
(3 Sugarcane and Betel (3) &mby whpd Geuhilew
(4)  Avicennia only 0 sddalur Gk
16
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135. Which of the following is/are correct with
regard to post fertilization changes in

plants ?

(i)

(i)
(i)
(iv)
(1)
(2)
(3)
(4)

Petals fall off

Ovary develops into fruit
Ovules develop into seeds
Androecium fall off

(iii) and (iv) only

(1) ard (i) only

(i) only

All of the above

136. The plants which produce spores are :

137,

(1)

(2)

(%)

(#)

algae, fungi, mosses, fems
fungi, mosses, ferns, yoast

algae, mosses, ferns, spirogyra

The dominant plant forms of present day is/

(i)

(k)
(i)
()
(1
2)
)
(4)

Pteridophytes
Angiosperms
Gymnosperms
Bryophytes

(i) and (i) only
(1i8) and (iv) only
(iv) omly

(#) only

135.

136.

137.

17
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sraupsaiid soupsRseu Sy
IHuE wrpphisaiis agl/ama #f

) swdsa G 2 Hidps

@) @Heou saiiurs wWIpSDE
(i) @wbsd dlagasms LR
(iv) waTpssrar wlLd efidpg
(1) (i) wHpd (iv) WEHE

@) (&) wpgbd (i) Wb

(3) (i) w B

0 Copsflu s@msyo

euGuriaar e euns@h sreanksd :

Q) urflsd, yesmesd, wrdusdr,
Gureaeflas

(2} undlad, yEsensada, svenuGon-
enaqm, Quresfiser

3) ehesad, wrdvadr. Gurafisdr,
L

4) undlssr, wrevsd, Cupafisd,
svauGrranann

sparwsBd wrd sraugmseio
Waand Cuburd e hpeal

1) GuAGL eu_ s

(i) SpEsMGunaEuibas

(iil) pRoCemaEufbad

(iv) SepCwreLi_BHas

(1) () wppo ()

(2) (iif) whHpd (iv)

(3) (iv) LG

@ ) wion
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138. Agar Agar is extracted from

140.

algae namely,

(1) Chiorells and Spiruling

(2)  Gelidium and Gracillaria
(3)  Ulva and Ascophyllum
(4) Laminaria and Anabaena

Find the correctly matched pair :

() Haustoria - Special roots prosent

in parasife

() Polypetalas - Petals which are many

but not united

(iii}  Autotrophs - Organisms which
prepare their own food

(tv)  Gamopetalae - United petals.

(1) (1) and (i) only
(2) (i) and (iif) only

(3 () () andd (iii) only

(4) Al of the above

Select the incorrect pair -

(1) Unicollular
Organism,

(2)  Arthropoda

(®)  Echinodermata

(4)  Annelida

Euglina

Snail
Star fish
Nereis

18
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138, st sised &l iy

uedSdimag G305 0asLDEng
(1) @GemGlydawn wheb e
(melenm

@ Al unb whpn HCoHACewm
() =@awr ipd LeCan  Fdand
4  mfiCafue BHEpe soean e

139, sflwmen et Cutay Dsdlis
0) eflgps o« g Bavefl gragriaais
Lmuqﬁll sramLLpn Hpdn Casrash
(i) el ¢ ua gaflés bl
QUBL B @sibscvar Qanarr_anau
f6) oty - nCen siog o awaa
odiflsen  gurfsmn o dflsd
(W) CalBion - Favemhs s
CuiiLCo Bspsmas Gsram e
(1) () whmb M) wlHib
(2) (i) g (i) wd.Hbd
(3 (), () copgub (1) .o
@ Cubsmbu saendgic

140, Quimmbaos Beworan s CuisDbsab
(1) @m Wsd efifl.  waellam

O sapiardlad - phas

3) L Gardlsar - plsgfr S
4) eomgaes - fflao
iiiokad
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141, Yeast reproduce by . 141, yEyensser __ mped geru-
Gumasin Qeldanper.
(1) fragmentation (1) e g
(2) budding O Gun(p dpse
(3) splitting (3) Saggs
(4) spore formation (4) eBgs e manasd

142. The type of pigment seen in phacophyceae : | 142, GuGwnimudlssiie sramiu@n Hpd-

e auens
(1) chlorophyll (1) [ uFsnswb
(2) phycoerythirin (2 JenusECsn erflgHfes
(3) phycocyanin ) JeuGsrsweafien
{4) fucoxanthin @ OwsCarsnpden

143. The number of ATP molegules formed by | 143. s&npgeran sanspfian Gung ®@hk-

glucose molecules in agrobic respiration : Gamsiv apodian]y e meunk@n ATP apak
sapEetien aramaiisos
(1 26 (n 26
@) 32 (2) 32
@3 36 0
(4) 20 4 20
19
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144. The chemical substances secreted by
endocrine glands are called as -

(1) Proteins
(2) Enzymes
(M) Hormwnes

(4) Fatty acids

145. Match the following ;

(a}  Amphitrichous (i)

(b))  Atrichous (1)

(v}  Lopoteichous (i)

(d) Pentrichous  (iv)

E.coli
Pseudomonas

Rhvosospieiliym
eulsrum

Corynebacterium
diplitheria

(1) Gop-tiin, (b0 Tek(ivh. (d)-(i)

(2} (o-liv). (B-(ild), (c)-(is), (d)-1)

(3)  (ah-fiid), (Bhw(iv), (c)=(ii), (d)-(3)

(#)  (ajqii), (B)giv), (cl(i). (d)-(lid)

www.Trb Tnpsc.Com

144. prevflows syulaseme o puid
Gadwdue CGafo Curmersss
R - - | (W71 T

(1)

(2)

SRS

dmrdlsd

Q gomGuratas

@)  Aarugligeaidlpmsd
5. Gunmésie ;
(a) ﬂ@@m &penp& (i) o Camenam
‘sansuilaniy
() sasdeyuppema i) &Gn-
LHT
fc) iy opeva spenpa () GonGon
a@ndlenyp sivanLifleb -
Wi MyLIrD
() saps saadley (v) Gsadlaf
wimdme i
g L uan
(1) Gad-(aki), (Wp-(i). (eh{iv), (dp(ii)
(2)  fapfiv), (b)) (c)-(), (d)-0)

O i), (byavi. (i) (@-6)

(4)

(), (h(iv), (e)-(i). ()i
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SOCIAL SCIENCE / &¢p& ifleflwied
146, sl Peewwnsenay ugmofloughens

was the land gifted for the
maintepance of schools,

(1
(2)
&
(3)

Vellan vagai
Shalabhoga
Brahmadeya
Devadana

Who laid the foundatiom of the Qutb-Minar 7

(1)  IHtutraish
(2)
(3

(4

Muharmmesd Ghori
Quitb-ud-din-Aibak
Ghivas-ud-din-Balban

Find thie correct pair
(1)
(2)
3
(4)

- Ao Shah
- Akbar
= Shah Jahan

The Bibika Maybara
Lal Quila

Buland Darwaza
Din-1-Panah < Aurangazeb
The Bijak s :

(1)  Awvatar of Krishna

(2) Holy Book of Jains

(3) Collection of Kabit's verses

(4) Conduct code of Ulemas

147,

148,

149,

Qane i wns suphscuc, Baoksd

(1) Ceuennder susna

@ saCunsd
(3 SpbiwSsuwb
(4) Ggeusnemd

@Ol kg Sugbad Briigweul
Wi 7

(1) Gy

O_ @ik pus
($) Awrafen Lnden

sflwren @eanmug GCanplphasad.
©
(2)
(3)
(3)

DG WwELT - Sgmmb ey
QT BN - SELIT
Ljubs® QuTsn - QymEmaTen
Bao-@-unan - genpliadls

ML aTaLg

(1) Hmeyamaflar syausnmb

(2) Ogulenisaficn yallg o

@ s 50é sallegsaflan Ggnpiny
4) o Cowrisaila gupés cilf
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150. Which of the following incident is related
with Shivaji in 1664 ?

151.

152,

153.

(1)

(2)

&)

(4)

The

Conguered Javali

Sultan of Bijapur was assasinated by
Shivaji

He audaciously directed his soldiers to
plunder Surat, the major Mughal port

He wounded and chased away the
Mughal general Shaista Khan

Vaikuntha Perumal temple at

Kanchipuram was built by =

(1
(2)
(3
(#)

Mahendra Varman |
Narasimha Varman |
Natasimha Varman [1
Nondi Varman 11

“Bigha Nitaya” means :

(1)
(2)
3
(4)

Preachings of Jainism
Ajivika philosophy
Buddhist schools
Buddhist tract

The first Buddhist commentator was ;

(1)
(2)
(3)
(4)

Asvaghosa
Vajrabodhi
Sithalai Sathanar
Buddhba Gosha

www.Trb Tnpsc.Com

150, &pasnamuUemasatic 1664 - @ Samg-
e Ggmien ) Bagpey erg ?

151.

152.

153.

(1
(2)

6}

(+)

grademus esiuhpsd
Bgiyflar sdgran slsdanramen
wsaruilan gpédwg gopaps
BETLTE HIFNE SSDUTLH
Slogl van saer Sgyull maigad
apsnug eyl Cagua smenan
sTLUULBES BTEgse

angrdilpd B eomuan Quoswome
CamSenad si_gi Wwanesi ;

(1
(2)
M)

0

pegamnd wGassreufoe
apgomd Bréldioeutoe
@raomd prdbuwsuine
Brawemd piHeutiod

‘B Blaun cresiLg

(1)
(2)
(&)

()

apam wmGLIME S
afas shsmanb
Quangs ushaflsen
Quards sww [FEb

apsd Qumds eenguinffiwd :

{1
(2)
3

0

dauCansi
agrGund
dgenc anggenni
LpsCanan
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154. Which among the following is not related to

155.

156.

157.

the Buddhist study centre ?
(1) Nalandha

(2) Banaras

(3) Taxila

(4) Vikramshila

The chronological order of the forts annexed
by Shivaji :

(1) Raigarh, Torna, Kondana
(2) Torna, Raigarh, Kondana
() Kondana, Torma, Raigarh
(4) Kondana, Raigarh, Tormna

At the end of which battle did Robert Clive
introduce Dual system of Government in

Bengal 7

(1) Battle of Plassey

(2) Battle of Bauxer

(3)  Pirst Karnataka war
(4)  Second Karnataka war

Through which treaty, Peshwa Baji Rao 11
accepted Lord Wellesley's Subsidiary
Alliance ?

(n
(2)
(3
()

Treaty of Salbai
Treaty of Bassein
Treaty of Paris

Treaty of Mangalore

154.

155,

157.
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Spssaw aupnflé & yis sad
ennwih ise ?
(1) prenisn
m aTyE
(3) plsfwid
(4) cl&gwion

fard estuiflu SEriesafld
sflwuren aufiens .

() Qs Gsrrem, Canan(Heunamm
(2 Ggufiearn, Bniani, GanasBasmanm
O CanarBanenm, Cgnivann, Qi
(4) " CaréimBanem, Goismt, Gariam

wppl Cunflan opredd Gorurl
eovwrd Prieor L8 wapous
Qanasr(® aupgnm ?

(1)  Semdlls G
@ uaant Guid

(%)
(#)

apgeomb anmm sy Curi
Erammb afpm_sd Gunit

Cusyaur Goaw o ungord «is
oL@ samadauy. GeaudtoaeiuEida
gomanlumLg Sligos Tips
Garerni 7

m
&)
(4

ST oL eI A
Liuadan oL eLIgAdns
wirtley L aiugdama
WDRISGIHT BN lig ien
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158.

The idea of competitive examination for
recraitment of Government staff was
introduced firgt by the

(1) 1813, Charter Act
(2) 1833, Charter Act
(3) 1853, Charter Act
(4) Indian Governmment Act, 1858

159, Chatika was the Educational Institution of

160.

161.

period.
{1) Pandias
(2) Cholas
(3) Cheras
{4) Pallavas
Match the following.
(a) Arete () Wind
(b  Lowess (t) Rivers
(¢) Lagoon (i) Glacier
(d) Plunge Pool (iv] Seawaves
(1) fakgiid), (b)), ()-{iv), (d)-(H)
(2)  (a)-) (b)-fit), (c){uin)s febidiv)
(3) (i), (0)-(iv), ()4, Te)-(iii)
(4)  (a)-tiii), (b)), (e-tivy, (d)(0)
Internationdlumother language day is
celebrated on
(1) 2™ February
2) 12 February
(3 21™ Januory
(4) 21™ February

159.

160.

161.

www.Trb Tnpsc.Com

. Cumigg Garay aped sios
et uioand odp smpes aspd
appdla sflopaiuGsdug

(1) 1813, Ul wd sl b

O 13 uliwsalb

(3) 1853, Ll wié siih

(4) 1858, @pBu BkE s ib

“Sipens” FETLS| sre Sededl

Ppesnmisd

M urdmgd

(2) Gempi

(3) Gayit

0 vowei

Qumhbgs.

(n) Gyl M arhg

(b) wfsmrdsd (i) mmser

(¢) elumsifisar (i) uveflungy

(d) e lumdeay (iv) & e
Cpaaw

D @i, By, (e-fiv), (-G

(2)  (a)-a), (b)-{id), (c)-{iid), (d)-Giv)

(3) (@), (B)-Giv). (c)-(i), (d)-(iii)

(3)  (a)qiii). (bR, (c)-(iv). (d)-()

udenr () srlGoml fenb Qargmn
LOufeug ¢

(1) Gyaf -2

(2)  Sogwuf - 12

(3)  mereud - 21

® dugad -21
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162. The ore found in Kanjamalai in Tamil Nadu
is :

(1) Copper

(2) Bauxite

(3) Iron

(4) Manganese

163. Find the odd one out :
(1) Kumbakarai
(2) Killiyur
(3) Agaya Gangai

(4) Vettangudi

164. Match the following :

(a) Maharashtra (i)  Marari Beach

(b) Karnataka (i) Aguda Beach

() Goa (i) Tarkarli Beach

(d) Kerala
(1) (a)-(iii). (b)), (ch(iv). (d)-(H)
(2)  (a)-), (b)-(HE), (c)-(iv), (d)-{ii)
(3} (a)-(iv), (b)), (ch-{ui), (<)-(1)
() (@)-(i), (B)-(iv), (o)1), (d)-(i)

(lv) Om Beach

www.Trb Tnpsc.Com
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162. sfpasda agsoaald dm s
Hg -

(1y smbimbd
(2) wun&ensL
0 Boby
(4) wiksels

163. Qunmpars gEand GaibEsbésaun

(1) @busasT

(@) ety

(3) (s shiens

0 taagy

164. Gunmdss -
(a) wamyragliggT () wynfl
EL DS
b) sAmm_&T (i) &S
&1L [HEanT
(c) Gsmeun () el
SLhHEe |
(d) Gagam (iv) @b sLpaag

(1) {ak(iki), (b)), ()-{iv), (di-{i)
(2)  (ap=(i), (o)), (ch(iv). ()-(ii)
(3)  (a(iv), (b)-{ii) (e)-(iii), (d)-(1)
@ (o) )Gy, G (@0
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165.

166.

187,

165,

Find the incorrect pair :
(1) South America - Mount Aconcagua

(2) North Americs - Mount McKinfey

(3) Europe = Mount Kosciuzko
(4}  Asia - Mount Everest
In Mexico is called "Sierra

Madre™, a voung folded mountain.

(1) Himalayas

(2)  Appalachian Mountains
(%) Andes Mountains

(4)  Rocky Mountains

“Grand Banks” relates to ;

(1) Minerals

(2) Industries

(%) Fishing pround
(4)  Transport Road

Which is known as the “Light House of
Mediterrancan Sea ?

(1) St Helens
(2)  Strombaki
(¥ Vesuvius

{4} Mauna Lon

www.Trb Tnpsc.Com

165. Qurmbsns Heaweanus s Ha

(1) Gzan HCuwhssn - serasmgan
dlsaib
(21 e sQwfzsr Qwalsad Asnn

@ mGsroun - snaudlysuGan
flsmb

(4)  apflin - sreuClgeiv Ssmb

166. ClosfCsr gniwd. HAungi ool Gy
sy Sopdsliu®oe Benbd wely
D).

(1)  Sbwese

(2)  suBoaluer weasdr
@) [ Sergsiv weow

@ madl waase

167. ‘Horaml Guniis'
BT g

(1) safho akmb

Q) Gpmfhsrencuser
@ Ben e semb

(4) Curd@aursg sraa

168, ‘Wil penpis e saiuseny elerdsib
T spanpealiLeaugy
(1) Ssulaor. Gameven
@ imdGurd
3 Qeusailivey
4) weyenr Gan
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169.

170.

171,

172.
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Swahili culture is & mixture of
and

(1)  Arabs and Americans
(2) Africans and Europeans
(3)  Arabs and Africans

(4) Africans and Asians

Which is the largest freshwater lake in
Africa 7

(1) Tanganyika
(2) Victoria
(3) Malavi

(4) Turkana

The river that runs from Australian Alps to
the Indian Ocean s

(1) Murray
(2)  Alexandria
(3) Lachlan
{4) Swan

Xiluodu Dam 18-
(1) China

2) Venezucla
(3) Brazil

(4) Parnguay

www.Trb Tnpsc.Com
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189. saindl swnFsngd DD b
wésaflen Fearaind

B AN SQ@AUILITELD.

(1) 2Cniu whmb @uwss
(2) oifiss oppo eGrmuSu
O =Gou wipghd HOEMsEs
(4) = udfiss wopo Sl

170. HUdRasreld weater Baobufiw
penar gl
(1) risnafidsn
@ eA&GLnflin
(3)  wonwretl
) gnamenn

171, eaufCraflumeia Hald vaas
Gam_fidl@mis Siful Qummsd
ey Lumiph Bl

@ wiGs
(2) Si@e&eumeimgfwm
(3) enden

(4) eoaurd

172. B s supgera @b :
@ e
(2) Qeuaflasn
(3 GCréd
#) urr@Gau
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173, The leading producer of petroleum in India :

(1) Raniganj
(2) Digboi
(3) Bokaro

(4)  Tharia

174. To become a Chief Minister, one should have
completed the age of :

(1) 18
(2) 25
(3 35

4) 30

175. A party is recognised as a National party
when it secures atleast of the
valid votes in Lok Sabha / Asseinbly olections
in four states,

(1) 3%

(2) A%

() &%

www.Trb Tnpsc.Com

173. @pfurds dul Grrdflwn epusd
sy (pgeanand BSOD :
(1) grefsgss
@ #aumli

(3) GClurssGom
(%) grfiwm

174. wpwamwssrns, Smbubd Gmet
g yisSweifmes
Gaian(ub

(W s
@ s
(3) 35

(4) 30

175. gm acd  Cadlu sl fluns
subafésliuBaughe wvésaaa
Sdwgy praveg wrfolsesssna
sLwang Cpipalled CQsdwggis
Cuwrgs andgsfld  eunkg-
senvenl QuipBimisd Geusm(Bib,

(1) 5%
(2) 3%

3 7%

@ o
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176. Match the tollowing - 176. QummSEs :
fa) First Womamn (i)  Arundhati Roy @ s Quar () =opsd
Gavernor < THET gol
(b) First Woman (i) Indira Gandhi b) opgd Queasr (1) Eifor
Prime Minister Sy wm Ey
(¢) First Woman (i)  Meira Kumar (€} waswmear (i) Sgw @ond
Speaker of Wwad Huar
Loksabha SUNBMLET
(d)  First Indian (iv) Sarojini Naidu (d) wgar ufls N i sGongllall
Woman to win @unn g pru®
Booker Prize Bpfw Cligh
(1 (i) (B)Gish (c)-(ii), (d)-(iv) (1) (@), D) fcp(ili), (d)-iv)
(2)  a)(iv), ()i, (c)=h), (-G (2) “Ma)(i), 1)), (c)-(), (D
(3 (a)-{iv), ()-{id); fe)-4iid), () O tar-iiv), (b)), (c)-Gisi). ()
() (a)fiv), (b)Giii), (el (d)-{il) ) @)-0v), (i), (€)-43). (i)
177. According to Amendment of | lﬂ@ﬁﬁm srfluwepolan
Indian Constitution, a set of fundamental sl gfimissBaug BDifuw ®K-
duties are prescribed to all ctizens of Indin |J DA EHEST A g lILDI8 SLbsE
' sumupSauL ) araran
() 42 O 2-ay
@ 2™ 2y 21 -aug
(@) 53 (3) 53 -auy
(4) 45th (4) 45 -aug
178, Which country is aobsimember of BIMSTEC? | 178, dlaraima@appe “Goalcs”
sal_afl prfaefie @aans g -
(1) India (1) @i
(2) Myanmar (2) WBlusremion
(3) China Q &
(4)  Nepal (4) Cpunend
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179.

180,

The MLA of your constituency is one of the
Ministers in the State assembly. He comes
under activity.

(1) Secondary economic
(2) Tertiary economic
(3)  Quaternary economic

(4)  Quinary economic

Which among the following does not fall
under the market type based on the
Geographic Location ?

(1) Local Markel
(2) Regional Market
(3)  Spot Market

(4) International Market

~000-

179.

180.

www.Trb Tnpsc.Com

emiss  Gargfllidn sl wap
s gufler wrfieo @vssToads
Lkl GupnetarTi. Seuf
BewbunBacild mikmigairt.

(1) BHoreermb Here Qurmearmgng

(2) apeemmb Hena Qunmemngny

(3) mrensmb Haned SLnmemgny

@ mismd Bava Qunmengmy

Epssamiapfa yddud Qou-
Ssfen g Luen speng sumasatia
Geanpsy ag ?

(1) esnrgmi shengsdr
(2) Syrpfu spmssa
0

() shaGss shogad

ELRF SHES

«~no-
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Sreysnggo ued (WHUI KHE eLlul L gee)
FOR ROUGH USE (Not for evaluation)

1
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Lreysrgyd Lgdl (WHAI ghHeE el soe)
FOR ROUGH USE (Not for evaluation)
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